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Question Number : 1 Question Id : 54062622761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

NT, QY, ?, WI, ZN
Options :
1. ®* SD
2. % SE
3. TD
4. % TE

Question Number : 1 Question Id : 54062622761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, Fora § U Ue g 8| fau 77U fasedt & O o 9e! fawed gg, S 31 gehH & 1 &R |

NT, QY, ?, WI, ZN
Options :
1. ®* SD
2. % SE
3. TD
4. % TE

Question Number : 2 Question Id : 54062622762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

NPQJ, RSMG, VVID, ZYEA, DBAY, HEWU
Options :

1. * RSMG

2. % VVID

3. * HEWU

4. ¥ DBAY

Question Number : 2 Question Id : 54062622762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hd fean T 8, ford § U ug ad ¢ | 3T T fawed! & 9 39 7Tad U &I gfu|

NPQJ, RSMG, VVID, ZYEA, DBAY, HEWU
Options :

1. * RSMG

2. % VVID

3. ®* HEWU



4. ¥ DBAY

Question Number : 3 Question Id : 54062622763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. ¥ PRQS

2. % BECD

3. % ZBAC

4. * NPOQ

Question Number : 3 Question Id : 54062622763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad uy o fau e fasedt & 4 faww sier/siarl o1 gl
Options :

1. ®* PRQS

2. ¥ BECD

3. ® ZBAC

4. = NPOQ

Question Number : 4 Question Id : 54062622764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRad oy & fau 7o fawedt & @ Sefia siert &1 gfu|

AN :VM::PJ:?
Options :

1. ® JR

2. % J1

3. ¥ KI



4. = KR

Question Number : 4 Question Id : 54062622764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

AN:VM::PJ:?
Options :

1. # JR

2. % J1

3. ¥ KI

4. % KR

Question Number : 5 Question Id : 54062622765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

UVXT : WYTO :: ?
Options :

1. #* NPQR : PSNM
2. ¥ JSTR : LVPM

3. % OBNC: QDJX
4. % [PKL : KSHI

Question Number : 5 Question Id : 54062622765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy & foT 77T fowedl § 9 e sfeR g &l gHu|

UVXT : WYTO :: ?
Options :



1. ®¥ NPQR : PSNM
2.+ JSTR : LVPM
3. % OBNC : QDJX
4. % TPKL : KSHI

Question Number : 6 Question Id : 54062622766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘MAINS’ is written as ‘67°, ‘BORN’ is written as ‘62’. What is the code for ‘HUNT’ in that code language?
Options :

1. #* 69

2. % 78

3.¥ 72

4. % 75

Question Number : 6 Question Id : 54062622766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fAfR1E Bis YW H, ‘MAINS® &1 67" FoRa ST &, ‘BORN’ B 62 Tl STl ¢ 1 §9 IS UIWI H ‘HUNT® HT HIS 1 67
Options :

1. * 69

2. % 78

3. 72

4. % 75

Question Number : 7 Question Id : 54062622767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of five members is to be selected among eight members A, B, C, D, E, F, G and H. C and F have to be selected together. Either G or D
has to be selected with A. B or E has to be selected with H. G and C cannot be selected together. Which of the following members can be
selected?

Options :



1. * ABCDE
2. ¥ BCDEF
3. # ABCFG
4. *= BCDFG

Question Number : 7 Question Id : 54062622767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3B UGV A, B, C, D, E,F, GAUTHH Y Ufd Yo Bl Uh SH TN gl CAUTF B UG WY I | AF I ATAGAD B AT 81 H
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Options :

1. # ABCDE

2. % BCDEF

3. % ABCFG

4. % BCDFG

Question Number : 8 Question Id : 54062622768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six boxes P, Q, R, S, T and U are kept one above the other (not necessarily in the same order). T is kept above Q, but below S. Two boxes are
kept between R and U. P is kept just above T. One box is kept between P and U. How many boxes are kept between Q and S?

Options :
1. % 1
2. %2
3.%3
4. ¥ 4

Question Number : 8 Question Id : 54062622768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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W A 67
Options :
1. *= 1
2.% 2
3.%3
4. ¥ 4

Question Number : 9 Question Id : 54062622769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight persons A, B, C, D, E, F, G and H sit around a circular table facing towards the centre (not necessarily in the same order). Three persons sit
between A and C. Two persons sit between B and H. E sits second to the left of G. H sits third to the right of D. A is not the neighbour of B.
Which of the following statement is correct?

I. A sits second to the right of F.
II. Three persons sit between D and E.

Options :

1. ¥ Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 9 Question Id : 54062622769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Hadl



2. % Had Il
3. % 1 qYT I aHl
4. % qIEITAIB I

Question Number : 10 Question Id : 54062622770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All A and B.
II. All B are C.

Conclusions:
I. No AisC.
II. Some B are A.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 10 Question Id : 54062622770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had FT5HY [ 3FIERU Sl §

2. ¥ HAd [SHY 11 SR Hdl &

3. % G (FIShY [ T 11 SFJIR0T 6%l &
4. % 1S i P SFERU T BT ®

Question Number : 11 Question Id : 54062622771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some P are Q.
II. All Q are R.
III. NoR is S.

Conclusions:
I. Some P are S.
II. NoQis S.
III. All P are R.

Options :

1. % Only conclusion I follows
2. % Only conclusion II follows
3. % Only conclusion III follows

4. % All conclusion follow

Question Number : 11 Question Id : 54062622771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had (sHY | 38R0 HRT §
2. ¢ Had BN 11 IR0 el §
3. % Had fAhY 111 3R Hadl §
4. % i} Fsh Y SFRRUT R §

Question Number : 12 Question Id : 54062622772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

68, 68, 102, 204, 510, ?
Options :
1. ¥ 1530
2. % 1535
3. % 1540
4. % 1560

Question Number : 12 Question Id : 54062622772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue & < 1S saar § @ g 8f 1 i |




68, 68, 102, 204, 510, ?
Options :
1. % 1530
2. % 1535
3. % 1540
4. % 1560

Question Number : 13 Question Id : 54062622773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.

418 3|10
3135 |61]36] |8

2

12
?

Options :
1. % 28
2. % 34
3. % 36
4. ¥ 32

Question Number : 13 Question Id : 54062622773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy @ fau 7 fosedl O 9 Uy fig (2) & ®IM WR 3 dTelt Ie &1 gl

418 3110 |2]12
3135] |61]36] |8]?
Options :
1. % 28

2. % 34



3. % 36
4.4 32

Question Number : 14 Question Id : 54062622774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many bottles are either red or plastic but not both?

18 Plastic

Bottles —

Red
/ 26

Options :
1. ¥ 40
2. % 25
3.% 8
4, % 33

Question Number : 14 Question Id : 54062622774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faramit Sidel a1 ot wiiReds § 91 a1d & URd &l gl 82




Options :
1. ¥ 40
2. %25
3. %8
4. % 33

Question Number : 15 Question Id : 54062622775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. Copy which are white and paper both are 16.
I1. Paper which are neither copy nor white are 14.

White
10
6
14 18 i
16 |12 .
, 12 | 17 SR
Copy
13

Options :



1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 15 Question Id : 54062622775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. Had I
2. % HAAII
3. % QUG

4. % Il IATBI I

Question Number : 16 Question Id : 54062622776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Point P is 9 metre to the west of point Q. Point R is 4 metre to the north of point Q. Point S is 31 metre to the east of point R. Point S is 5 metre to



the south of point T. How far and in which direction is point P from point T?
Options :

1. * 51 metre, south-west

2. % 5] metre, north-east

3. ¥ 41 metre, south-west

4. # 41 metre, north-east

Question Number : 16 Question Id : 54062622776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgrfigoid oM uim A gIfSgrRig QU4 Mx S AgIfagsfigr U 31 Ml @A gl g s fig T I s e efeur# g1 fig p
foig T 9 fpat R qur fpa femm & 89

Options :

1. % 51 Hiex, aféur.ufgy

2. % 51 Hiex, IWR-d

3. ¢ 41 HicR, Gfaur-ufym

4. % 4] Hlex, SIR-Qd

Question Number : 17 Question Id : 54062622777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ramesh starts walking towards the south and walks 10 metre. He turns to the left and walks 24 metre. He turns to the left and walks 10 metre. He
turns to the right and walks 11 metre. Finally, he turns to the right and walks 12 metre. How far and in which direction is he now from the starting
point?

Options :

1. # 37 metre, north-west
2. % 39 metre, north-west
3. ¥ 37 metre, south-east

4. #® 39 metre, south-east

Question Number : 17 Question Id : 54062622777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 37 Hiex, IRy

2. % 39 Hiex, IAR-UlgH

3. ¢ 37 e, iy gd

4. % 39 Hiex, féror.qd

Question Number : 18 Question Id : 54062622778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

— — — —

To || ol To ? To

Options :
4—-.
of
1. %
*...—.
ol
2. ¥
+—.
le




Question Number : 18 Question Id : 54062622778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy @ feT 7T fasedl © 9 Uy i (2) & ®IM W 3 dTelt 3Thid &1 gl

— — — —

To || ol To ? To

Options :
4........
of
1. %
1.-.-_
ol
2. ¥
+-.-_
le
3. %
.._}
ol
4, ®

Question Number : 19 Question Id : 54062622779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.

Options :
q
I 1
{_
1. %
1
I«
2. ¥

Question Number : 19 Question Id : 54062622779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied vy ), faw 7 fawedl & 9 favw sirepfd &1 gl

Options :



| 1

=1
2.9 ‘L =

'-:—Te
3. % !

<—le-
4. % f

Question Number : 20 Question Id : 54062622780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By folding the given paper, which of the following cube can be made?



3
7
® | A
el
| 11 11

Options :
1. ® Tand II
2. % Il and III
3. ® Tand III

4. % 1, and I

Question Number : 20 Question Id : 54062622780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3
7
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| II 11
Options :
1. % 1949111
2. T dUT 1T
3. % [dUT I
4. % 1 11dYT 11
General Awareness

Group Number : 2
Group Id : 540626885
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awareness

Section Id : 5406261129
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261345
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062622781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dance doesn’t belong to Southern India?
Options :

1. ® Bharatanatyam

2. ¥ Kathak

3. % Kathakali

4. % Kuchipudi

Question Number : 21 Question Id : 54062622781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed 3 3 oF w1 o sl yRa 3 Jefta T8 82
Options :

1. ® RIAIRIH

2. ¥ HYdh

3. % HYDdAl

4. % pAYSt



Question Number : 22 Question Id : 54062622782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of monument — state is correct?

I. Tomb of Maryam-uz-Zamani — Uttar Pradesh
II. French War Memorial - Goa

Options :

1. ¥ Only I

2. % Only I

3. % BothIandII
4. % Neither I nor II

Question Number : 22 Question Id : 54062622782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR BT e & @ &9 91 7w a1 22

1. ARTH-I-THM! BT AHERT — IR TS
1. Thd IR HHIRTS - TMar

Options :

1. ¥ FHad |

2. % Had Il

3. % [ UGl

4. % qGIIATRIII

Question Number : 23 Question Id : 54062622783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average daily balance that a bank is required to maintain with the Reserve Bank as a share of such per cent of its Net demand and time
liabilities (NDTL) that the Reserve Bank may notify from time to time in the Gazette of India is called as

Options :



1. # Statutory Liquidity Ratio
2. ¥ (Cash Reserve Ratio
3. % Repo rate

4. ¥ Reserve repo rate

Question Number : 23 Question Id : 54062622783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ifdfereh A SIUra

2. ¥ Tha IRIE U

3. % TR

4. % @@y R

Question Number : 24 Question Id : 54062622784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The government of India declares MSP for 23 crops. Out of these how many are cereal crops?
Options :

1. %5

2.% 6

3.¢¥7

4. % 8

Question Number : 24 Question Id : 54062622784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. %5
2.%6
3.7
4. % 8

Question Number : 25 Question Id : 54062622785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a convex lens, when the object is at infinity, then the image is formed at
Options :

1.¥F,

2. % Between F, and 2F,

3. ¥ Beyond 2F,

4. % At infinity

Question Number : 25 Question Id : 54062622785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JAT AGH, Od g AT Rt g, A ufdferd . WRAar !
Options :

1. ¥ F,

2. % F, AU 2F, B &g

3. % 2F, YW

4. % IR

Question Number : 26 Question Id : 54062622786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The atomic number of an element is the same as the number of
Options :

1. * neutrons



2. % protons
3. ® neutrons + protons

4. % electrons + neutrons

Question Number : 26 Question Id : 54062622786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH dd B RAN[TAT I G & RER B 8
Options :

1. % et

2. ¢ Uikl

3. % g + Ule

4. % A + g

Question Number : 27 Question Id : 54062622787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is true?

I. Bases are bitter in taste and soapy to touch.
II. Acids are sour in taste

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 27 Question Id : 54062622787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. % Had I

3. ¢ 1QYT I gAY

4. % A IAIE I

Question Number : 28 Question Id : 54062622788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Around 50 percent of the basin area of Godavari lies in
Options :

1. # Andhra Pradesh

2. ¥ Mabharashtra

3. % Madhya Pradesh

4. # QOdisha

Question Number : 28 Question Id : 54062622788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MeEd & avt e dT T soufasa A fyd gl
Options :

1. % e e

2. ¥ HERTY

3. % QUGN

4. % IS

Question Number : 29 Question Id : 54062622789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafafad 4 9 & 91 g8 SUdfcatia TaeeR ol § g1 ard Sl
Options :

1. % 9IS

2. % 3&H

3. % T

4. ¢ &9

Question Number : 29 Question Id : 54062622789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following tree is not found in the tropical evergreen forests?
Options :

1. # Rosewood

2. % Ebony

3. ¥ Mahogany

4. ¥ QOak

Question Number : 30 Question Id : 54062622790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding mesosphere?

I. This is the third layer of the atmosphere.
II. Meteorites burn up in this layer on entering from the space.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 30 Question Id : 54062622790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Hewsd & HaH H fRafaied # 4 & a1 98l 82

1. T8 IIgHSd B diesl IRA ] |
11, 3idRe T TAR B aTd Sohl (U 59 TR H 3 TR od S1d & |

Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 31 Question Id : 54062622791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which city was the capital of Pallavas?
Options :

1. ¥ Kanchipuram

2. % Patliputra

3. % Aihole

4. ¥ Taxila

Question Number : 31 Question Id : 54062622791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
a1 TSTYTT DI+ T /R UT?
Options :

|. ¢ HIEIgRA

2. % Urefaga

3. % UgId

4, % q&IRra




Question Number : 32 Question Id : 54062622792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who defeated Ibrahim Lodi at Panipat in 15267
Options :

1. ¥ Babur

2. % Humayun

3. % Akbar

4. % Jahangir

Question Number : 32 Question Id : 54062622792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1526 H g § Sefed alidl o1 faram g-am U
Options :

1. ¢ §la}

2. % gHY

3. % 3HpAR

4. % BN

Question Number : 33 Question Id : 54062622793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On , Bhagat Singh and B. K. Dutt threw a bomb in the Central Legislative Assembly.
Options :

1. % 8 March, 1929

2. % 8 April, 1929

3. % 8 May, 1929

4. % 8 June 1929

Question Number : 33 Question Id : 54062622793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
DY g SR o &, g A g fau v H 99 B
Options :

1. % § 7T, 1929

2. ¢ 8 3T, 1929

3. % 81g, 1929

4. % 8, 1929

Question Number : 34 Question Id : 54062622794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is NOT a winner of Bharat Ratna Award?
Options :

1. # Pranab Mukherjee

2. # Atal Bihari Vajpayee

3. # Pandit Ravi Shankar

4. ¥ Mahendra Singh Dhoni

Question Number : 34 Question Id : 54062622794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafaRed § § &9 YRd 7@ [RIBR & faordr g1 82
Options :

1. ® JUE it

2. % 3fcd fogRY Aoyt

3. % Ufed Aaeier

4. ¢ Tigs g ol

Question Number : 35 Question Id : 54062622795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who has been appointed as the Vice Chief of Naval Staff of Indian Navy in July 2021?
Options :

1. ¥ Ajit Kumar

2. % S.N. Ghormade

3. % G. Ashok Kumar

4. ¥ R.K. Dhowan

Question Number : 35 Question Id : 54062622795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S[ATs 2021 T YR TR & FHT1 €% & 3U U™ & =0 H g Fged foear man g2
Options :

1. % 3foild PUR

2. ¥ THUA. URAS

3. % ST, 3R $AR

4. % 3R, Yo

Question Number : 36 Question Id : 54062622796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 12th edition of exercise INDRA NAVY, a biennial bilateral maritime exercise between Indian Navy and Russian Navy was held in the
from 28 to 29 July 2021.

Options :

1. ¥ Baltic Sea
2. % Red Sea

3. # (Caspian Sea
4. # Dead Sea

Question Number : 36 Question Id : 54062622796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T S5 AdT BT 12 I TXHRUT, HRAR AT 3R T4t 1 & of fgares fguefo aqe ooy # 28 ¥ 29 J@TS 2021 %



ST fosar ar |
Options :

1. ¢ difecd AR

2. % oI 9R

3. % SRR IR
4. % Td IR

Question Number : 37 Question Id : 54062622797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which part of Indian constitution is related with the Union Territories?
Options :

1. ¥ VIII

2. % VIl

3. % IX

4, % X

Question Number : 37 Question Id : 54062622797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T T B I HIT Y o8 I T 32
Options :

1.¥38

2. % 7

3.%9

4. % 10

Question Number : 38 Question Id : 54062622798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which article of Indian Constitution is related with the Term of office of Governor?
Options :



1. % 152
2.9 156
3. % 161
4, % 165

Question Number : 38 Question Id : 54062622798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU BT DI AT S5 AT $I Ugrard I Taferd g2
Options :

1. % 152

2.9 156

3. % 161

4, % 165

Question Number : 39 Question Id : 54062622799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following has never won an Olympic medal for India?
Options :

1. % Neeraj Chopra

2. % Leander Paes

3. # Vijay Kumar

4. ¥ Mahesh Bhupathi

Question Number : 39 Question Id : 54062622799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faffed § 9 forga URd & fog st sl e 76t Siid &2

Options :

SIS



Question Number : 40 Question Id : 54062622800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad 3 9 &1 91 oo et Ser e 98! 82

1.2012 - TG
11.2000 - Rrg=t

Options :

1. % FHadl

2. % had Il

3. ¢ QYT I gl
4. % 1B

Question Number : 40 Question Id : 54062622800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of Year — Summer Olympic host city is correct?

I. 2012 — London
I1. 2000 — Sydney

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Arithmetic Ability
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Group Id : 540626886
Group Maximum Duration : 0

Group Minimum Duration : 0
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Group Marks : 20
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Arithmetic Ability

Section Id : 5406261130
Section Number : 1

Section type : Online
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261346
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062622801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of :

27 =954+ T =14-2%6
5X4-6X%X3

Options :

1.¥ 1/4




2. % 112
3. %2
4. % 4

Question Number : 41 Question Id : 54062622801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
27T =954 T+ =2%85
S A —6%3
&1 A 1 57
Options :
1. ¥ 1/4
2. % 12
3.%2
4. % 4

Question Number : 42 Question Id : 54062622802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For what value of M, 5234M is divisible by 9?
Options :

1. % 2

2.¥ 4

3.% 1

4.%9

Question Number : 42 Question Id : 54062622802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M & g A & 1T 5234M, 9 A favTsa 82

Options :



1. %2
2.¥4
3.% 1
4. %9

Question Number : 43 Question Id : 54062622803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

—

: . 713 B5
What is the largest fraction among R and

r__,p-.lg_,.“l

—
—

Options :
3
5

MO | -

13

15

Question Number : 43 Question Id : 54062622803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5—3 Dy 2 fga Y ued ge R a2

S 17 5

|_|



Options :

r'ﬂlﬂ_u

WO | =

13

15

Question Number : 44 Question Id : 54062622804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A =40 and B = 120, then what is the ratio of Highest Common Factor of A and B to the Least Common Multiple of A and B?
Options :

l.%2:3

2.% 4:3

3.91:3

4. % 1:2

Question Number : 44 Question Id : 54062622804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfE A =40 TUTB = 120 §, Al A TUT B & HEH JHUGID BT A IUT B & TYAH JATIGY I FIT AT 82
Options :

l.%2:3




2.% 4:3
3.¢1:3
4. % 1:2

Question Number : 45 Question Id : 54062622805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the positive square root of 41+ E:NE is A and positive square root of 36 — 16—\5 is B. then what is the value of A — B?
Options :
1.¥5
2. % 2
3.% 3
4. % 1

Question Number : 45 Question Id : 54062622805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qfG 41+24+2 T YATEHS FIHA A AT 36162 I YATHD T B, Al A— B BT HH 1 82

Options :
1.¥5
2. %2
3.%3
4, % 1

Question Number : 46 Question Id : 54062622806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class there are 12 boys and 15 girls. The average weight of all the boys is 55 kg and the average weight of all the girls is 45 kg. What is the
average weight of the entire class?

Options :



1. % 502 kg
2. % 474 kg
3. % 482 kg
4. ¥ 494 kg

Question Number : 46 Question Id : 54062622806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS D& H 12 ASh Ul 15 TSIbAl § | G TSB! BT STId aoi 55 6,71 8 du1 Il Aefohdl 1 3ird aei 45 {67 81 g8 e 1
3N T 182

Options :

1. % 502 fem.

2. % 4741H 71

3. % 482 fH .41

4. ¢ 49.4fH .

Question Number : 47 Question Id : 54062622807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 20 percent of a number is 200, then what will be 37.5 percent of the same number?
Options :

1. % 335

2.9 375

3. % 415

4. % 425

Question Number : 47 Question Id : 54062622807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe Tep T-AT BT 20 UTARId, 200 B, <l I BT BT 37.5 UTA=Id T SN2

Options :



1. # 335
2.9 375
3. ® 415
4. % 425

Question Number : 48 Question Id : 54062622808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The maximum mark in an examination is 250. If Rohit has scored 120 marks in the examination, then how much percent marks has Rohit scored
in the examination?

Options :
1.9 48
2. % 52
3. % 40
4. % 44

Question Number : 48 Question Id : 54062622808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TRIE & 31T aY 8 250 B 1 AT fed = oam & 120 i U U €, df Afga A wten § fosan ufa=id sies ured b 82
Options :

1. ¥ 48

2. % 52

3. % 40

4. % 44

Question Number : 49 Question Id : 54062622809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article is sold at a loss of 37.5 percent. If the selling price of the article is Rs. 100, then what will be the cost price of the article?
Options :

1. ¥ Rs. 160



2. % Rs. 150
3. # Rs. 146.5
4. * Rs. 156.5

Question Number : 49 Question Id : 54062622809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I B 37.5 U= H1 g1 TR 991 o1l & | Afe I BT s T 100 ¥ €, 1 9% $1 hd Yo &1 g2
Options :

1. ¥ 160 39U

2. % 150309

3. % 146,530

4. % 156,590

Question Number : 50 Question Id : 54062622810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RAfed T AIfed DT IAHT MY HHRT: 24 T8 AT 27 TS & | 6 TN b YT AT TUT HIfgd BI 3T T SUTd T B2
Options :

l.*8:9

2.¥10: 11

3.#9:10

4. % 11:12

Question Number : 50 Question Id : 54062622810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The present ages of Rohit and Mohit are 24 years and 27 years respectively. What will be the ratio of ages of Rohit and Mohit after 6 years?
Options :

1. % 8:9

2.%10: 11



3.#9:10
4. % 11:12

Question Number : 51 Question Id : 54062622811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a 400 litres mixture of A and B, the quantity of A is 240 litres. What is the ratio of quantity of A and B in the given mixture?
Options :

1.¥3:2
2.% 3:1
3.%2:1
4. % 3:4

Question Number : 51 Question Id : 54062622811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

400 TR A TUT B & HSOT H, A B AT 240 Tex g1 U 7T HY01 T A AT B 1 AEA1 &1 30T 1 62
Options :

1.¥3:2
2.%3:1
3.%2:1
4. % 3:4

Question Number : 52 Question Id : 54062622812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 48000 is lent out at compound interest (compounding annually) at the rate of 25 percent per annum. What is the compound interest
for 2 years?

Options :

1. #* Rs. 30000
2. % Rs. 24000
3. % Rs. 28000



4. % Rs. 27000

Question Number : 52 Question Id : 54062622812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

48000 BT B Teb TR 1 25 U1 Ufciay b1 &R A <ehfeg: TS (AMMeb HAISH) TR IYR a1 711 8 1 2 G BT =ehgfegs sITST T &2
Options :

1. % 30000 3T

2. % 24000 3T

3. % 28000 3T

4. ¥ 27000 T

Question Number : 53 Question Id : 54062622813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of a train is 15 metre/second. In how much time will it cover a distance of 15 km?
Options :

1. ¥ 5/18 hours

2. % 18/5 hours

3. % 1 hour

4. % 2 hours

Question Number : 53 Question Id : 54062622813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TSt BI T 15 Hiex/AHUs g | fova- I0a & a8 15 fos 1. 1 gl ag pi
Options :

1. ¢ 5/186c

2. % 18/54cC

3. % 14T

4. % 29¢




Question Number : 54 Question Id : 54062622814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train can cover a platform of length 680 metres in 56 seconds. If the speed of train is 72 km/hr, then what is the length of train?
Options :

1. # 380 metres

2. # 460 metres

3. ¥ 440 metres

4. % 520 metres

Question Number : 54 Question Id : 54062622814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH YS!, Th 680 HIeR dd WehH &l 56 YHUs B UR B Jobd! o | IS Yams! o1 7ifd 72 f. 1t /et 8, Y YenTet & ovals 3T 82
Options :

1. % 380 Wi

2. % 460 HIcR

3. ¢ 440 HIeR

4. % 520 Wi}

Question Number : 55 Question Id : 54062622815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mohit and Rohit together can complete a work in 15 days. If Mohit is thrice as efficient as Rohit, then in how many days can Rohit alone
complete the same work?

Options :

1. # 45 days
2. ¥ 60 days
3. % 20 days
4. % 90 days



Question Number : 55 Question Id : 54062622815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aifed quT Afed Aadm: T &1 & 15 fo7 § o Iavd g1 afe Mifed, Afed I IF T wrdea 8, 4 AT siovalt 90H & &1 foba i
T R R Ghdll 7

Options :

1. % 45faq

2. ¢ 60 faA

3. % 20 faq

4. % 9o fea

Question Number : 56 Question Id : 54062622816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Area of a rectangle is 1200 cm?. If the length of rectangle is thrice of its breadth, then what is the perimeter of the rectangle?
Options :

1. * 80 cm

2. #® 60 cm

3. % 120 cm

4. % 160 cm

Question Number : 56 Question Id : 54062622816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP T &1 8% 1200 T2 B 1 TS 3Md Pt AFals 39! AISTs B! i T[T 8, A STad &1 URHTT o1 82
Options :

1. % g0 .Mt

2. % 60 .M.

3. % 120 7.4

4. 160 9.H.




Question Number : 57 Question Id : 54062622817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solid cone is melted to form solid spherical balls. Height of cone is nine times of the radius of sphere. Radius of cone is 17 cm less than the
height of cone. If radius of cone is 10 cm, then how many spherical balls will be formed?

Options :
1. ¥ 25
2. % 36
3.%9
4. % 75

Question Number : 57 Question Id : 54062622817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 31 X ! [TTATHR 31 MATHR Tie §18 115 & | AP DI GdTs T B AT DI A1 T 8 | AP B o1, AP D1 s o 17 ST,
®Y g1 e g o Bear 10 Q.41 €, @ fba-t Mamer 7ie s

Options :

1. ¥ 25

2. % 36

3.%9

4. = 75

Question Number : 58 Question Id : 54062622818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of pens sold by six shops.



Shops | Number of pens
120
40

e llellw]lali- 1=
£ |
=

100

What is the ratio of number of pens sold by A to the number of pens sold by E?
Options :
1.% 2:1
2.%3:2
3.4 1
4. % 4:3

Question Number : 58 Question Id : 54062622818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 & 7S TifererT B8 GBI gRT S TS el Bl Te Y g B

cean oAl hT TE&IT
120
40
70
45
30
100

W E (DO ] =

A GRT 99 U HaH B WS $I, E GRT 9 T HAH DI AT H SJUTd o7 82
Options :
1.%2:1



2.%3:2
3./ 4:1
4.% 4.3

Question Number : 59 Question Id : 54062622819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the marks obtained by a student in five subjects.

95

70

60

50

Sl S2 S3 S4 85

Marks obtained in S1 is what percent of the marks obtained in S5?
Options :

1. ® 125 percent

2. ¥ 140 percent

3. # 160 percent

4. % 114.28 percent

Question Number : 59 Question Id : 54062622819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I fea mar gus = Ut fawdl § U S gRI U 3ih) &l SRl g |

95

70

60

S1 52 S3 S4 83

1 H U 3iep, 5 H U 37} &1 fb=1 ufawrd 22
Options :

1. % 125 gfa=rd

2. ¥ 140 Ufa=rd

3. % 160 Ufd=Id

4. % 114,28 Ufard

Question Number : 60 Question Id : 54062622820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the income of two companies in five years.



800
- 700
- %-".--H‘
. = S
600 600 N 2200
- 7500 ...H"!H_T.'H .
300 400~ ~= 300
e
200
Y1 Y?2 Y3 Y4 Y5
o P =—Q

J1 = The value of average income of company P in all five years J2 = The difference between income of P and Q in all five years What is the
value of J2 - J1?

Options :
1. % 400
2. % 600
3. ¥ 500
4. % 900

Question Number : 60 Question Id : 54062622820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fean Y o Ui anf & €1 Hufal 3t 3 &l a2
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71 =g} ure auf & SU p o1 3T 3T 1AM 12 = G Ui g & p qUT Q B 319 & &I BT 3R J2 — J1 T HIF 1 82

Options :
1. % 400
2. % 600
3.9 500
4. % 900
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General English

Section Id : 5406261131
Section Number : 1
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Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 5406261347
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062622821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

You don't has (1)/to be a linguist (2)/to recognize this language (3)/.No error (4)
Options :

1.9 1

2. %2

3.%3

4. % 4

Question Number : 61 Question Id : 54062622821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

You don't has (1)/to be a linguist (2)/to recognize this language (3)/.No error (4)



Options :
1.9 1
2. %2
3.%3
4. % 4

Question Number : 62 Question Id : 54062622822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I am unable (1)/to make an (2)/connection with her (3)/.No error (4)
Options :

1. %1

2.9 2

3.%3

4. % 4

Question Number : 62 Question Id : 54062622822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

I am unable (1)/to make an (2)/connection with her (3)/.No error (4)
Options :

1. %1

2.2

3.%3

4. % 4

Question Number : 63 Question Id : 54062622823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

I turned in the street quickly.
Options :

1. # on the

2. ¥ into the

3. # onto the

4. % No improvement

Question Number : 63 Question Id : 54062622823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

I turned in the street quickly.
Options :

1. # on the

2. ¥ into the

3. % onto the

4. ¥ No improvement

Question Number : 64 Question Id : 54062622824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She have been running since a while.
Options :

1. * have been running for

2. % has been running for

3. * has been running since



4. ¥ No improvement

Question Number : 64 Question Id : 54062622824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

She have been running since a while.
Options :

1. ®¥ have been running for

2. % has been running for

3. # has been running since

4. % No improvement

Question Number : 65 Question Id : 54062622825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

The movie was 4 hours long, it was the movie I have ever seen.
Options :

1. # aslong as

2. % long

3. % longer

4. ¥ longest

Question Number : 65 Question Id : 54062622825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

The movie was 4 hours long, it was the movie I have ever seen.

Options :



1. # aslong as
2. % long

3. % longer

4. ¥ longest

Question Number : 66 Question Id : 54062622826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

Horses are than zebras.
Options :

1. ¥ bigger

2. # biggest

3. % big

4. % asbig as

Question Number : 66 Question Id : 54062622826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word/words. Choose the correct alternative.

Horses are than zebras.
Options :

1. ¥ bigger

2. # biggest

3. % big

4. # as big as

Question Number : 67 Question Id : 54062622827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.



While walking towards the house
P: I saw him rushing

Q: street talking to

R: up and down the

S: someone on the phone

Options :

1. # PQRS
2. % RQPS
3. ¥ RSPQ
4. ¥ PRQS

Question Number : 67 Question Id : 54062622827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

While walking towards the house
P: I saw him rushing

Q: street talking to

R: up and down the

S: someone on the phone

Options :

1. % PQRS
2. % RQPS
3. ¥ RSPQ
4. ¥ PRQS

Question Number : 68 Question Id : 54062622828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

I was trying
P: but the broom



Q: to reach there
R: to clean the corner
S: wasn’t long enough

Options :

1. % QRPS
2. % RQPS
3. ¥ PSRQ
4. ¥ RPSQ

Question Number : 68 Question Id : 54062622828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

I was trying

P: but the broom

Q: to reach there

R: to clean the corner
S: wasn’t long enough

Options :

1. # QRPS
2. % RQPS
3. % PSRQ
4. ¥ RPSQ

Question Number : 69 Question Id : 54062622829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Vigilant
Options :
1. ¥ Aware

2. ® Unaware



3. % Unassuming
4. % Alarm

Question Number : 69 Question Id : 54062622829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Vigilant

Options :

1. ¥ Aware

2. # Unaware

3. # Unassuming
4. % Alarm

Question Number : 70 Question Id : 54062622830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Rival

Options :

1. % Accomplice
2. ® Carnival

3. ®# Foe

4. % Mimesis

Question Number : 70 Question Id : 54062622830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Rival



Options :

1. ¥ Accomplice
2. # Carnival

3. # Foe

4. % Mimesis

Question Number : 71 Question Id : 54062622831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Unnaranged

2. % Unarrenged

3. % Unarranged

4. % Unaranged

Question Number : 71 Question Id : 54062622831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Unnaranged

2. % Unarrenged

3. % Unarranged

4. % Unaranged

Question Number : 72 Question Id : 54062622832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Stuttering



2. # Stuterring
3. % Stutterring

4. # sttutering

Question Number : 72 Question Id : 54062622832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Stuttering

2. # Stuterring

3. # Stutterring

4. ¥ sttutering

Question Number : 73 Question Id : 54062622833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To mean business

Options :

1. ¥ To be serious

2. # To start a new venture
3. % To hire a contract killer

4. ¥ To weep heavily

Question Number : 73 Question Id : 54062622833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To mean business
Options :



1. ¥ To be serious
2. * To start a new venture
3. #* To hire a contract killer

4. ¥ To weep heavily

Question Number : 74 Question Id : 54062622834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To cry for the moon

Options :

1. # To long for the past

2. % In old times

3. ¥ To aspire to possess something beyond one’s reach

4. % To weep silently

Question Number : 74 Question Id : 54062622834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To cry for the moon

Options :

1. ® To long for the past

2. # In old times

3. % To aspire to possess something beyond one’s reach

4. % To weep silently

Question Number : 75 Question Id : 54062622835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.



Study of living organisms
Options :

1. ¥ Biology

2. % Ecology

3. # Zoology

4. ® Epistemology

Question Number : 75 Question Id : 54062622835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Study of living organisms
Options :

1. ¥ Biology

2. # Ecology

3. % Zoology

4. # Epistemology

Sub-Section Number : 2
Sub-Section Id : 5406261348
Question Shuffling Allowed : Yes

Question Id : 54062622836 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Homes are the places we spend most of our time. Heating your home in winter can be expensive, and comes at a huge environmental cost too.
Technology to make homes more self-sufficient could help the UK decarbonise, while also make homes cheaper to run — something that’s
crucially needed for those on lower incomes.

In 2018, 10.3 percent of UK households experienced fuel poverty. This means these households were in a situation where spending money on
energy services would push the household income below the poverty line.

On-site renewables can be part of the solution, especially for social housing, where significant numbers of families are currently facing a choice



between heat and food.

This awful situation can be avoided — or at least stemmed — by building renewable power generation and low carbon heat sources into the homes
themselves, like integrated solar or thermal panels in roofs. By constructing these into the fabric of the roofs, they can be a design feature while
providing a viable energy generation source for the home.

For new estates, there’s the option of wider district heating or group ground source heat pumps, which take heat directly from the ground for use
in the home. Air source heat pumps can also be used in the home. This technology uses hot air from outside to heat the home as well as hot water
for use — similar to how a fridge works, but in reverse.

A project in Swansea, Wales, is looking into using homes as mini power stations. The pilot could see more than 10,000 homes with heat pumps,
solar panels and large batteries for energy storage. The results of projects like this will be vital for learning how to progress with new designs for
social homes.

Wind turbines, while suitable in some rural locations, are not entirely practical for housing developments. Solar panels are much more suitable
and likely to be part of the solution for decarbonising social housing — even in places which do not receive much sunlight.

Sub questions

Question Number : 76 Question Id : 54062622837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. ¥ Homes as Power Stations

2. % Social Housing

3. # New Designs for Social Homes

4. % Climate Change: Fight Continues

Question Number : 77 Question Id : 54062622838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following challenges is/are faced when heating homes during winters?

I. Spending money on energy services
II. A huge environmental cost
II1. On-site renewables

Options :

l.¥ Tand II

2. % Il and III
3. % I, Il and III



4. % Only I

Question Number : 78 Question Id : 54062622839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which of the following statements is false?

Options :

1. # A project in Swansea, Wales, is looking into using homes as mini power stations.
2. % In 2018, 10.3% of UK households experienced fuel poverty.

3. % Air source heat pumps cannot be used in the home.

4. % Wind turbines is mainly suitable in some rural locations.

Question Number : 79 Question Id : 54062622840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which technology has been compared with the technology of fridge?
Options :

1. # Low carbon heat sources

2. ¥ Air source heat pumps

3. # Solar thermal panels

4. % Wind turbines

Question Number : 80 Question Id : 54062622841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word- ‘viable’ as used in the passage?
Options :

1. % Adept

2. # Vulnerable

3. % Durable

4. ¥ Feasible



Question Id : 54062622836 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)
Read the following information carefully and answer the given questions.

Homes are the places we spend most of our time. Heating your home in winter can be expensive, and comes at a huge environmental cost too.
Technology to make homes more self-sufficient could help the UK decarbonise, while also make homes cheaper to run — something that’s
crucially needed for those on lower incomes.

In 2018, 10.3 percent of UK households experienced fuel poverty. This means these households were in a situation where spending money on
energy services would push the household income below the poverty line.

On-site renewables can be part of the solution, especially for social housing, where significant numbers of families are currently facing a choice
between heat and food.

This awful situation can be avoided — or at least stemmed — by building renewable power generation and low carbon heat sources into the homes
themselves, like integrated solar or thermal panels in roofs. By constructing these into the fabric of the roofs, they can be a design feature while
providing a viable energy generation source for the home.

For new estates, there’s the option of wider district heating or group ground source heat pumps, which take heat directly from the ground for use
in the home. Air source heat pumps can also be used in the home. This technology uses hot air from outside to heat the home as well as hot water
for use — similar to how a fridge works, but in reverse.

A project in Swansea, Wales, is looking into using homes as mini power stations. The pilot could see more than 10,000 homes with heat pumps,
solar panels and large batteries for energy storage. The results of projects like this will be vital for learning how to progress with new designs for
social homes.

Wind turbines, while suitable in some rural locations, are not entirely practical for housing developments. Solar panels are much more suitable
and likely to be part of the solution for decarbonising social housing — even in places which do not receive much sunlight.

Sub questions

Question Number : 76 Question Id : 54062622837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What can be the suitable title for the given passage?
Options :

1. ¥ Homes as Power Stations

2. * Social Housing

3. * New Designs for Social Homes

4. * Climate Change: Fight Continues

Question Number : 77 Question Id : 54062622838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following challenges is/are faced when heating homes during winters?

I. Spending money on energy services
II. A huge environmental cost
II1. On-site renewables

Options :

l.¥ Tand II

2. % Il and I1I
3. % I, Il and III
4. % Only I

Question Number : 78 Question Id : 54062622839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the given passage, which of the following statements is false?

Options :

1. # A project in Swansea, Wales, is looking into using homes as mini power stations.
2. % In 2018, 10.3% of UK households experienced fuel poverty.

3. % Air source heat pumps cannot be used in the home.

4. % Wind turbines is mainly suitable in some rural locations.

Question Number : 79 Question Id : 54062622840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which technology has been compared with the technology of fridge?
Options :

1. # Low carbon heat sources

2. % Air source heat pumps

3. # Solar thermal panels

4. % Wind turbines

Question Number : 80 Question Id : 54062622841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the synonym of the word- ‘viable’ as used in the passage?

Options :

1. * Adept

2. % Vulnerable
3. % Durable

4. ¥ Feasible
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Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062622842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T wreat ot Y 1 BT

d: +dd:
Options :

1. % gdd:
2. % ddd:
3. % Qd:

4, % gddd:

Question Number : 81 Question Id : 54062622842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa 7T <reql ot HfE 7 BT

<d: + dd:
Options :

1. # gdd:
2. % gddd:
3. % gd:

4. % gddd:

Question Number : 82 Question Id : 54062622843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifad 7 ¥ o1 91 Weg faRwur &1 Igrevur 781 82

Options :

1. % gd



2. % FR
3. ¥ GG
4. % TR

Question Number : 82 Question Id : 54062622843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefed # 9 I A1 Weq ARIV0T BT IaTER T8l 82
Options :

1. % gl

2. % g

3. ¥ Yailgc

4. % QIR

Question Number : 83 Question Id : 54062622844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed 7 3 o I forar a8 7t 82
Options :

1. % TR WHT UHardl g — IR fobar
2. % PSI ISP R T3 & — ABHD fpal

3. ¢ I 1 IR DI Uhearl - b fohd
4. % T AP UGl § — THHD [T

Question Number : 83 Question Id : 54062622844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed 3 3 & 9 fovar 9@t 78t 82
Options :

1. ® BT W ghardl § — IRondes forar
2. % YIST USh R TSI § — 3HHD fohal




3. ¢ e - IR DI U Sarl — SbHdb fshal
4. % TS AP UGl § — THHD o

Question Number : 84 Question Id : 54062622845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoad wreal & s o1 aTal Xreg B W1 82
Options :

1. % 34T

2. ¢ f&

3. % JYId

4. % Fa1

Question Number : 84 Question Id : 54062622845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foforRad wrea # et 312f aTe <eg B 91 52
Options :

1. % 391

2. ¢ fe&d

3. % YHId

4. % FRI

Question Number : 85 Question Id : 54062622846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faT 7T g 1 faehH s F1d FIfTI

Yy
Options :
1. % fAf3a



2. % IYEEH
3. ¢ [yH
4. % fAgzm

Question Number : 85 Question Id : 54062622846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77U wre &1 faaH e J1d BT

Hy

Options :

1. % Afgd

2. % TRIEH
3. ¢ fAym|

4. % <™

Question Number : 86 Question Id : 54062622847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifed 7 3 o9 91 Ig T 82
Options :

1. % TR

2. % TRy

3. ¢ iR

4. % TBR

Question Number : 86 Question Id : 54062622847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed & @ & 91 I s 82

Options :




1. % T

2. % AGIHT
3. « Jffaerifad
4. % OIER

Question Number : 87 Question Id : 54062622848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o U Treaiw & fore Ifeid e &1 T Sifvig|
IR G P15 ¢ aTell Wl

Options :
1. % gYIRT
2. % HIdT
3. % ST
4. ¥ IRUY

Question Number : 87 Question Id : 54062622848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tu gy & fore I 2ee &1 T B
IR QA DI O ¢ dTell Tl

Options :

1. % G
2. % HIdl
3. % Sl
4. ¢ dRUY.

Question Number : 88 Question Id : 54062622849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fafeied Srsal # ¥ Tl Jd wifor
Options :

1. ¢ fard

2. % fa=

3. %Y

4. % Y

Question Number : 88 Question Id : 54062622849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad <real # @ wWlifei I HifsrT
Options :

1. ¢ fRarga

2. % a7

3. # XY

4. % Y

Question Number : 89 Question Id : 54062622850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QU 71T e DT Igdo- AT HIfTT|

YR
Options :

1. % YRfqai
2. ¢ YRl
3. % YRfgsf
4. % yiiedal

Question Number : 89 Question Id : 54062622850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
QU 71T e DT Igd=- AT DIfIT|

YR
Options :

1. % YRfAl
2. ¢ YR
3. % yrfast
4. % IR

Question Number : 90 Question Id : 54062622851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3U T aTey T Y URT &1 T BT |

TR b TP I ¥ g 3Mifed g fb 3 Tgra 1 A 3
Options :

. ¥V IRHUIAD

2. % Wi 4 U8

3. % IMRAT e P 3

4. % FograA A e

Question Number : 90 Question Id : 54062622851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faU U 91T © Y[ HFT 61 99 DI |

WP TIPS IS J 8 MU § b 3 Tara 1 A R |
Options :

. ¥ RS YID

2. % e 4 ug

3. % MR fHa



4. % FogIa-T A @

Question Number : 91 Question Id : 54062622852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU 70 9T & UHR &I Ugd HIog|
SR B T 3R, o g uref = /1 it

Options :

|. % GgqdYSH
2. % IRd

3. % HY

4.« THigd

Question Number : 91 Question Id : 54062622852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN 9100 & UBHR B! UgdH PHioT |
ORI BT 1T 3R, o g1 uTe I Bl T

Options :

1. % gO=IEIu®H
2. % IRJ

3. % UG

4.« Tofgd

Question Number : 92 Question Id : 54062622853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%8 9UI & <IF Ual & ST oy ferg o1 v gt 8
Options :

1. # fRm s



2. ¢ ON® g
3. % JGfRM
4. % 3fefaRH

Question Number : 92 Question Id : 54062622853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S5 U & &I Ual & dig g g &1 Wi gidi 82
Options :

1. % fRm fog

2. ¢ ISl fag

3. % 3fGfRH

4, % JfcUfaRTH

Question Number : 93 Question Id : 54062622854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T I/ & T IUged HRTar &1 99 HRoh, Rad R &1 i Pifod |

g8 BT H A%y 3cad RIH U ST, Hifs I |
Options :

1. % dS133H

2. ¢ Sl A8 Agd BT

3. % TRR Pl DR

4. % gUETY HIEA

Question Number : 93 Question Id : 54062622854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U T are & T IUgad YeTax &1 994 HRb, Rad I &1 g B |

d8 BT H 3(aY T I U ST, FiTh I |



Options :

1. % dS133M

2. ¢ Sl A8 Hg—d BT
3. % TRR Bl dDR

4. % SUEY BT EA

Question Number : 94 Question Id : 54062622855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffed arel | 9 fbg g  Ifd favm gl o1 Iui fasan mar g2
Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. e Sit, R &1 g

2. forddt ug &1 3wy v & forg quf formy e ST B

3. 918, MU GE &

4. SN gy B1d &, 98 Ihdar Urd SR b g |

Question Number : 94 Question Id : 54062622855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot arel 7 9 frg g 7 Ifd favm gl 1 Iui fasan ma g2
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 38 off, ORI &1 gHd
2. Tt ug 1 31 Ty HvA & o quf formy e S g |

3. 918, MU TS B |



4. SN uRyH B1d B, 98! Twhddr Ui R ghd & |

Question Number : 95 Question Id : 54062622856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR faweal & ¥, 39 fadmen &1 997 & 1 fou U geTak & 31 ol Ya9% U § oJad Rl ¢ |
TR P ST SIRTST, 31 79 o1 g

Options :

1. ¢ TR P I bl G g
2. % WA L& Ieo

3. % R 31 ff 1 e e g
4. % R BT Y dpl @1¢

Question Number : 95 Question Id : 54062622856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y U § oJad HRal g |
TR BT ST SITST, 311 711d &1 Rig

Options :

1. ¢ TR B JH DI I T8l

2. % RWR Y ST & Ieg

3. % TR P! T 1 Wre e g
4. % TR BT Nl dHT BT

Sub-Section Number : 2
Sub-Section Id : 5406261350
Question Shuffling Allowed : Yes

Question Id : 54062622857 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)



TS T T TR | IR O STYR WR Ui Uy [T T4 § | IR & AHYdas Ue aul U UY & IR fadhed! & § 95! fddhed |

3{TS 1 i IR, a1 94T AR B T § | JaT1 UeNfI!, T SUBRUI &b ATeH ¥ Y13l BT Fha aul TR0 edl g |
I Mo & Hrger o1 Hewd 3auiHig g | m%gﬂﬁwugc:{%gmﬂddlﬁ?ﬂﬁﬁ%éﬁﬁﬁﬁﬂéﬁ%@é% 9% §- Ot 3R

Wﬁﬂélﬂuﬁwﬂﬁq{rm|

S T3 yresft # Tt &1 i aru foRiy I o | i<t fay 1 et el 9t WIwT ¢ | fi<) 1 <Teq-wal &1 Aid fadR 8 9 drgeRr

3R fo-<l U o R §1 MU § 1 - o <0 A fgft o 031 UmaT 3R JaR-FR ﬁaﬁﬁ@fq@@s‘%@w%mwﬁrﬁ%ﬁ%

TIR-UIR & 391 Ag<aqul arTe fean g 1 fer fe=et HIST T rehrur o g, U SR forfd progeR & fre S B IR

T fgel & TN Bt GRTa1ST &1 & H @ §U Iaae e [HTT = YR HTITSH & foTe aob-iap! fadm & Siavid fard

gRESTTST @ YR fhar g

3T fques memu-lfromq P AT el & 3P AT deiR H IUA §; OI-3T S, T 1T, 31&6R Bk faueis ffe | =il

TS B A9 7 R TRId 3 3 1T Wi 59 Spe 9O Fopar T 2, R 1 ot cafeiy o St ST 39 Ot fdt B TR Y Fehell B

HIYCR TF FUCITAC P URTR FINT I f=dl HIST 1 TR ofist 71fa T B ) IR1a-TE ¢ 718 & | Higshidiige, IS, 7T, arg oi1fe faa=i

FHIHAT U daHTe R fg=al UV DI RIM ¢ 51 § | STSIC Hal & Said 3-Hd, Al Ad 3Hfe & BRI fg=a U & f[dh™ g Feimor

1 RIS 96 718 & | fewal 9 e W fR< Teal & U fa=a HUSR & fawfd fovar man g

fsamfa: %Eﬁaﬁ%mug\ceﬁ\msqéomwm%qw@% maﬁﬁ%ﬁaﬂﬁ%@ﬁmﬁmﬁﬁﬁﬁ%l 3(d: 39

& o ol g TR W BRI I DI SMaAHdl 5, o fgwal & TaR-UR H 3y U I He@yUl gig &1 o o |

Sub questions

Question Number : 96 Question Id : 54062622858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SUad TTRITT 1 e T g
Options :

1. % SR & AY

2. % fgdt &1 fdwR

3. ¢ SR 3R gt

4. % A4 IR gt

Question Number : 97 Question Id : 54062622859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=<t Pt Tsg-Tuer &1 A o’ |



33 915 U Yea-gra &1 31 1 82
Options :

1. % fqaH

2. % Teg R

3. % Teq fckd

4. ¢ qeg DI

Question Number : 98 Question Id : 54062622860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fed} HTT &Y Iy H H-T1 R UTed 82
Options :

1. * Ugall

2. % @I

3. ¥ AR

4. % reft

Question Number : 99 Question Id : 54062622861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rty s TR g Tfa A s wie, Jfs
Options :

1. % HYR Bl dgdl AT

2. % YRG! B faq=ramn 9

3. % faeREl Bt YR =T 4

4. ¥ HR AR Fec P JgaNT I

Question Number : 100 Question Id : 54062622862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fewat 3R SR Pl St & Al F1 T fhT SR 82

Options :




1. ¥ A% ¥U I fg<! BT TaR-TER AT
2. % HYR B AN TS T IueTsy BT

3. % Je9Re R I &I R 9 7|
4. % fg=<! AueddR Iuast BRI

Question Id : 54062622857 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)

TS T T TR | TR O STYR TR Ui WY T 7Y € | eI &1 e9MYddh Ue aul T UY & IR fadbed! & § g faded g1

3{TS 1 i IENRTED!, a1 94T AR BT T § | JIT UelIDT, Th-1dh! SUBRUIN &b ATeH I JI13Hl T Fha aul JRIVI Fdl g
e e & Wﬂ%ﬁ&mﬁu%%%gﬁaﬁw%mﬁwm%&hﬁﬁﬂém@‘% a8 §- At 3R
mﬁ%mﬁwﬁﬁ S
sqﬂéwmehﬁ%-—ﬁwmﬁ&wﬁmneﬁ%l%ﬁﬁ%ﬁmmaﬁwél%ﬁﬁwmwﬁﬁmeﬁﬁ
aﬁ?%ﬁ@ﬁ@ﬂif%ﬂgﬂ?s‘rw%%ﬂifﬁmé&ﬁﬁ%ﬁ%wwaﬁvwwﬁéﬁﬁﬁq@ﬁ%QTW%mwﬁrﬁ%aﬁ%
TIR-UIR & 301 Ag<aqul It fear | EI%%E"TWW TH] AP g, Y GIAFRY fofy Hreger & forg s g IR
T H gl & TN Bt GRTa13T &1 & H @ §U I e [HFT = YR U3t & 1T ao-iap! fadh o Sfavid fard
qﬁqﬁwaﬁﬁ%%m%
3ol fAUSIS WethTH & ST H3A ard fgl & 3 TlteddR TWiR H IUA §; Sia-t S, oy 3fthy, 31eR R fAvsie anfe | fg=<t
TS 7 99 U faem R - & forg w1 39 Odbe daR fovan man 8, ford 18 oft safa ar St v a9 O o=t o UaeTfRid R wahan g |
HIZICR Ud FUCIAC o TRER TGN ¥ fFee! HINT HT YR ofid 71 T 81 &1 TG 9 718 ¢ | AIgshINIue, (S, TTd, a1g 3ife fagsft
FHIHAT U JqTRE R fgwdl UV BT RIM € 81 § | STeIC al & Sid 3-0d, a1 Ad 3fe & HRUI fg=d U & fahrT g Jmor
® T ¢ TS ¢ | fe<l 98 e R R Tsd! & U fa=irat HUSR &l fawRid fasan T g
fsamfa: %E‘Nﬁwuaaaﬁwsqéomwmmw%% WB{lﬁlﬁ%ﬁ?ﬂHﬁﬂﬁ%%@W@rmmﬁﬁ%’l 3(d: 39
& o ol gg TR W B o3 D1 Maadhdl &, o fewdl & TaR-IR & 3y ©u § Aewyul 9fg &1 o 9o |

Sub questions

Question Number : 96 Question Id : 54062622858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR TR BT Mo T G2

Options :
]. % YR b Y



2. % fg=dl &1 fowr
3. ¢ SR 3R gt
4. % A9 3R gt

Question Number : 97 Question Id : 54062622859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=<l &1 Ysg-Huar 1 fAd fawar’ |

39 91 H Yea-grer &1 3 1 82
Options :

1. % faaH

2. % Yeq Y

3. % Yeq Nfad

4. ¥ UG DI

Question Number : 98 Question Id : 54062622860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fe=ct yTo I fay & HH-91 = U 82
Options :

1. % Ugdl

2. % @I

3. ¢ dRRT

4. % Rt

Question Number : 99 Question Id : 54062622861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fa=<t {1 &1 UER g a4 9¢ @1 ., Hiife

Options :
1. % SR B! dgdl AT Y



2. % YRl & foewrasn g
3. % faeRE &) WRd a=T 3
4. ¥ HER 3R FeAT & TG

Question Number : 100 Question Id : 54062622862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe=dl 3R e &Y Siie & fore o yarg fru SR /2
Options :

1. ¢ 3f¥ ¥ I fe<! BT TIR-UR BT

2. % HYR P AT oIS & Iud BT

3. % Je9Ee W 3= S R T 1

4. % =<l QIUCaR SUdsy S|

Disciplinel

Group Number : 6

Group Id : 540626889

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 5406261133

Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261351
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54062622863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Between 1820-1913, which countries imported grains to Europe leading to the fall of agricultural prices?
Options :

1. ¥ United States and Canada

2. # Canada and Mexico

3. % Canada and China

4. % China and Mexico

Question Number : 101 Question Id : 54062622863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1820-1913 & &g, fooT <=1 A RIT T 3T BT AT a1 fod S Sl & fRTae $mgo

Options :

1. ¢ Ggad Iy AR qUT HATE]
2. % HAST ayT Hfdqe!

3. % IS YT I

4. % T qYUT AfTap!

Question Number : 102 Question Id : 54062622864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The 1945 Plan for Economic Development for India is also known as
Options :

1. % Delhi Plan

2. # Lucknow Plan

3. ¥ Bombay Plan

4. # Calcutta Plan

Question Number : 102 Question Id : 54062622864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1945 BT HRd P forw 3nfifes faemr & g arsrr &) =g H W TS|
Options :

1. % faeett arerT

2. ® TGS ISl

3. ¢ S W@H

4. % HADI Aol

Question Number : 103 Question Id : 54062622865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements are correct regarding the Bhoodan movement?

I. The movement was independent of the government.
II. The movement had support from the Congress party.
II1. It was led by Jayaprakash Narayan

Options :

1. % Only I
2. % Tand II
3. % Il and III
4. % JandIII

Question Number : 103 Question Id : 54062622865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e sfieiaq & e # fAufeied # § &9 1wy 98t 32

1. 3MGId DR T Wa Y|

1. 3 3G &I ST UIe] ol THLH U o
I11. SHDT Agcd STAYUBIRI TR0 faam T |
Options :

1. % had |

2. 1T

3. % (YT

4. % 1 QYT

Question Number : 104 Question Id : 54062622866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1787 H, G XVIA AU pa- e &l ex d aiRa = faan |
Options :

1. % e

2. ¢ TIY

3. % 9

4. % Sfeq

Question Number : 104 Question Id : 54062622866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1787, Louis XVI exiled its noble members to the town of
Options :

1. # Grenoble

2. ¥ Troyes

3. % Versailles

4, % Bastille



Question Number : 105 Question Id : 54062622867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was chosen President of the third estate in 17897
Options :

1. ¥ Jean Sylvain Bailly

2. # Jacques Necker

3. % Abbe Sieyes

4. ¥ Marquis de Lafayette

Question Number : 105 Question Id : 54062622867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1789 T il TXee bl 3egef fond A1 /T T
Options :

1. ¢ S Ryea oeft

2. % ST PR

3. % Tsd R

4. % ATy S AR

Question Number : 106 Question Id : 54062622868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Tennis Court Oath taken?
Options :

1. % 18 June 1789

2. % 19 June 1789

3. % 20 June 1789

4. % 21 June 1789



Question Number : 106 Question Id : 54062622868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y BIC BT YUY e &t TS
Options :

1. % 18911789

2. % 19911789

3.9 20 91 1789

4. % 21911789

Question Number : 107 Question Id : 54062622869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the context of French Revolution, which of the following pairs of ‘Event — Year’ is correct?

I. Declaration of Rights of Man and Citizen — 1789
II. Reforms in Church and Clergy — 1787
III. First Anniversary of Fall of bastille — 1788

Options :

1. ¥ Only I
2. % Iland III
3. % Tand II
4. % T and III

Question Number : 107 Question Id : 54062622869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R wifd & Geuf , g - a¥ o1 Fufifd A e argm adl 22

I AT 3R AR & HRIHRI B! GIwol - 1789
1. 99 3R Uil § guUR - 1787
11. SR & U &1 Ugell IS - 1788

Options :



1. ¥ Had 1
2. % [I9YTII
3. % QYT
4. % 1Y

Question Number : 108 Question Id : 54062622870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was Delhi captured during the revolt of 18577
Options :

1. ¥ 20 September 1857

2. % 21 September 1857

3. % 22 September 1857

4. % 23 September 1857

Question Number : 108 Question Id : 54062622870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1857 & fagig & SRM fieei WR Fa FHeol fopar 7T o1
Options :

1. ¢ 20 RideR 1857

2. % 21 Ryder 1857

3. % 22 fydav 1857

4. % 23 RdeR 1857

Question Number : 109 Question Id : 54062622871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the kingdom of Awadh annexed by the British?
Options :

1. % 1854



2. % 1855
3. ¥ 1856
4. % 1857

Question Number : 109 Question Id : 54062622871 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{aY BT I S gRT D AT B ford 1 U1
Options :

1. % 1854

2. % 1855

3. ¥ 1856

4. % 1857

Question Number : 110 Question Id : 54062622872 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"Give me blood and I shall give you freedom" statement was made by
Options :

1. # Bhagat Singh

2. ¥ Subhash Chandra Bose

3. % Lala Lajpat Rai

4. ¥ Motilal Nehru

Question Number : 110 Question Id : 54062622872 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“T T <1 3R H TR SATSIST M SRT fear T 4|

Options :
1. % yirq ¥
2. ¢ QU g a9

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



3. % QT AoId I
4. % OIS A8&

Question Number : 111 Question Id : 54062622873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who started the Khilafat Movement?
Options :

1. ¥ Mohammad Ali and Shaukat Ali

2. % Mohammad Jinnah

3. ¥ Mahatma Gandhi

4. ® Hyder Ali

Question Number : 111 Question Id : 54062622873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEeTd sficier fobe == fobar U
Options :

1. ¢ HIgHIE 3fcl 3R Wehd 3fefl

Question Number : 112 Question Id : 54062622874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Salt Satyagraha of 1930 was part of which movement?
Options :

1. ® Quit India Movement

2. % Civil Disobedience Movement

3. # Non-Cooperation Movement



4. ¥ Kheda Satyagraha

Question Number : 112 Question Id : 54062622874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1930 BT THS TARIE fh siigiad &1 fexam Ut
Options :

1. % YRd B9 3ffalaT

2. « I ST T

3. % 3MggdIT Sicie

4. % QS YAYE

Question Number : 113 Question Id : 54062622875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Act gave the British government the power to imprison any person without trial.
Options :
1. ¥ Rowlatt

2. % Pitt’s India
3. ¥ Bengal Regulation
4. # Morley-Minto

Question Number : 113 Question Id : 54062622875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i A TRt TR o foe fondlt gaed & et ot fdd &1 g =l &1 ifad UaH ot ot
Options :

1. ¢ 3l

2. % oy gfgarn

3. % §7e faferae

4. % Hrc-fHel




Question Number : 114 Question Id : 54062622876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who among the following did NOT participate in the First Round Table Conference?

I. Delegates from the Princely states
II. Indian National Congress

Options :

1. * Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 114 Question Id : 54062622876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFaferfad # O fooge uyd MaAs G- # YR el foram

1. Faraal & ufafAfdr
1. YR AP B
Options :

1. % FHad 1

2. ¥ Had Il

3. % [ UGl

4. % qGIIATRIII

Question Number : 115 Question Id : 54062622877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the leader of Khudai Khidmatgar Movement?
Options :

1. # Vallabh Bhai Patel



2. ¥ Abdul Ghaffar Khan
3. % Gopal Krishna Gokhale
4. # Saifuddin Kitchlew

Question Number : 115 Question Id : 54062622877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Garé RIGHATR Sicier & a1 i & 2
Options :

1. % gooH WIS Ued

2. ¥ Heg I MTHEPR W[

3. % MU ST TR

4. % Qe fopeg

Question Number : 116 Question Id : 54062622878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Leadership to the Russian revolution was provided by which party?

I. Russian Social Democratic Labour Party
II. Communist Party of Russian Federation

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 116 Question Id : 54062622878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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L. =41 GRS der uref
1. = 99 &1 HHfe uref
Options :

1.« Had 1

2. % HAdII

3. % [ UGl

4. % qEIIATR I

Question Number : 117 Question Id : 54062622879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which revolution was sparked off due to shortage of bread in Petrograd?
Options :

1. # January Revolution

2. ¥ February Revolution

3. % March Revolution

4. % April Revolution

Question Number : 117 Question Id : 54062622879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B T hifd UG H oa A< B HHI b HROT ST i
Options :

1. ® el shifd

2. ¥ TR} ifd

3. % W pifd

4. % 37U pifdl

Question Number : 118 Question Id : 54062622880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the context of stages of the Russian revolution, which of the following statements is correct?

I. By the early 20th Century, middle-class intellectuals started participating.
II. In the 19th century, it only included the members of workers and peasants.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. ¥ Neither I nor II

Question Number : 118 Question Id : 54062622880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. % Had Il

3. % [qUT el
4. I

Question Number : 119 Question Id : 54062622881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who based his ideas on how to change the world on the scientific analysis of society through history?
Options :

1. % Adam Smith

2. % Karl Marx

3. ¥ Jeremy bentham

4. % Leonid Brezhnev



Question Number : 119 Question Id : 54062622881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIETN & HTe0H | WHTS & ae [ARAN0 TR AT &1l daall 9Ty, 39 TR S0+ faaR! &1 foeem semfd fasam
Options :

1. % TeH Ry

2. ¢ DI A

3. % GivH dyw

4. % forfAg sea

Question Number : 120 Question Id : 54062622882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which society destroys private ownership of means of production and in its place creates public ownership of means of production?

I. Socialist
II. Capitalist

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 120 Question Id : 54062622882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
P T GHIS IATGH o T & Fon W BT TF B IUD R TR IATG & TeH| BT Aol TH BT ol Bl 82
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Options :

1. ¢ Had |




2. % Had Il
3. % 1 qYT I aHl
4. % qIEITAIB I

Discipline2
Group Number : 7
Group Id : 540626890
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 5406261134
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 5406261352
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062622883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Robert Owen was the first to use the word Socialist in in his Cooperative Magazine.
Options :

1. % 1826

2.9 1827

3. % 1825

4. % 1824

Question Number : 121 Question Id : 54062622883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIeC 3a - Ugal aR o 3fU-t PRI ufiehT H THISIATE! Xsg o1 TANT fobaT T
Options :

1. % 1826

2.9 1827

3. % 1825

4, % 1824

Question Number : 122 Question Id : 54062622884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the person who believed that industries and factories could liberate mankind from poverty and ignorance.
Options :

1. # Saint - Simon

2. # Charles Fourier

3. % Proudhon

4. ¥ Robert Owen

Question Number : 122 Question Id : 54062622884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I A BT AT A, S I8 AT AT 7 IR 3R HRWM A ST &1 TRYel SR SR ¥ Yad R b g |




Options :
1. ® Id - grgad
2. % I BRI
3. % g
4. JATE 3ffa=

Question Number : 123 Question Id : 54062622885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the context of the Communist Manifesto, which of the following statements is correct?

I. It was written by Karl Marx and Charles Fourier and published in 1848.
II. Their thoughts became the basis of the struggle of the oppressed.

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 123 Question Id : 54062622885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHRIRT GYUTH & e &, afoRad & @ & 91 &y 981 87

. T8 PId IR 3R TR BHIRAR GRT ForaT T T 3iR 1848 T THIIRIT g7 AT
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Options :

1. % Hadl

2. ¢ HAd Il

3. % [ UGl
4. % qEIIATE I



Question Number : 124 Question Id : 54062622886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which ideology emphasized on state corporatism?

I. Fascism
II. Socialism

Options :

1. ¥ Only I

2. % Only II

3. %* BothIand II
4. # Neither I nor II

Question Number : 124 Question Id : 54062622886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iy fTHaTe R 5 faarRyRT 3 9k feam
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Options :

1. Had |
2. % Had Il
3. % [ UGl
4. % qEIIATR I

Question Number : 125 Question Id : 54062622887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct in the context of dictatorial philosophy?

I. In 1920, Carl Schmitt criticized parliamentary democracy.
II. Martin Heidegger attacked Western modernism for technological violence

Options :



1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 125 Question Id : 54062622887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl
2. % Had Il
3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 126 Question Id : 54062622888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In USA intervened in the World War I in support of Allies.
Options :

1. # July 1917

2.9 April 1917

3. # December 1917

4. % February 1918

Question Number : 126 Question Id : 54062622888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JAWE 1917
2.« 3UA 1917
3. % fadeR 1917
4. % THIaRT 1918

Question Number : 127 Question Id : 54062622889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The UN Charter was signed on 26 June 1945 by representatives of countries.
Options :

1. ¥ 50

2. % 45

3. % 55

4. % 59

Question Number : 127 Question Id : 54062622889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U, AR WR 26 S 1945 Bl &3 o ufafAferal gRT gweR feu e |
Options :

1. ¥ 50

2. % 45

3. % 55

4. % 59

Question Number : 128 Question Id : 54062622890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year, did Germany formally declare that it was no longer bound by the military or disarmament clauses of the Treaty of Versailles?
Options :

1. % 1934



2. %1935
3. % 1936
4. % 1937

Question Number : 128 Question Id : 54062622890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg i &, St = sfiuenies & 4 9t foban o1 fos 95 3ra 99Ty o1 9y & I 31 FRpR0T TS 8 o1ed el 52
Options :

1. % 1934

2. % 1935

3. % 1936

4. % 1937

Question Number : 129 Question Id : 54062622891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which Provisions of the Treaty of Versailles is correct?

I. The Versailles Treaty redrew the border of Europe.
II. Article 231 held Germany guilty of war crimes.

Options :

1. * OnlyI

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 129 Question Id : 54062622891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A

4. % A IAIE I

Question Number : 130 Question Id : 54062622892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correctly matched?

I. Soviet-German non-aggression pact — 1939
II. Treaty of Lausanne — 1923

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 130 Question Id : 54062622892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 o1 98t gafd g2
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1. Q& 1 i — 1923

Options :

1. % Bad 1
2. % BHad Il
R AGUIDIEGI




4. % ATEIIATSII

Question Number : 131 Question Id : 54062622893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The rotation of the Earth is responsible for

I. the alternate periods of day and night
II. period of year

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 131 Question Id : 54062622893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gty PR Rmer R
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Options :

1. Had I

2. % Had Il

3. % [ UGl
4. % GBI

Question Number : 132 Question Id : 54062622894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following planets comes under the category of ‘Jovian planet’?
Options :



1. ¥ Saturn
2. * Venus

3. % Mercury
4. % Earth

Question Number : 132 Question Id : 54062622894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafofed & @ 1 &1 U5 <ifag 7e & Joft & s g2
Options :

1. ¢ qH

2. % Qb

3.5 dY

4. % et

Question Number : 133 Question Id : 54062622895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ‘Nife’ layer of the earth is composed of
Options :

1. # Sodium and Selenium

2. ¥ Nickel and Iron

3. % Silicon and Iron

4. % Tron and Tin

Question Number : 133 Question Id : 54062622895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T2 B A% IRd I gl
Options :

1. % gifsgd qur da-aq



2.« Fhd 9T IRRA
3. % TYferapia duT 3R
4. % drgraurfes

Question Number : 134 Question Id : 54062622896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first geologist to devise an instrument used to detect an earthquake?
Options :

1. * George Cuvier

2. % Alfred Wegener

3. # E.R. Ward Neale

4. ¥ Chang Heng

Question Number : 134 Question Id : 54062622896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT BT Ud T & foTE SXWATE fhT ST a7 STHR DI TR B a1 Ugd Yfaq1 i 2
Options :

1. % Sifol PR

2. % 3AhS AR

3. % LR TS Al

4. G

Question Number : 135 Question Id : 54062622897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following characteristics of metamorphic rocks is correct?

I. These rocks are denser and harder than the original Protolith.
II. These rocks do not contain fossils.
III. Conglomerate is a type of metamorphic rock.



Options :

1.9 TandII

2. % Only III

3. % I, II and III
4. % Jand III

Question Number : 135 Question Id : 54062622897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. IdUTII

2. % ool I
3.% [ I dYUT I
4. % 1dYTIII

Question Number : 136 Question Id : 54062622898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dew point temperature is expressed in

I. Celsius
II. Fahrenheit

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 136 Question Id : 54062622898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T aruH o ogad fpar S 8|

1. AR
1. BIRAgISC

Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 137 Question Id : 54062622899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The swarms of rounded hummocks resulting from the deposition of glacial till are called
Options :

1. # Outwash

2. % Drumlins

3. # Moraines

4. ¥ Eskers

Question Number : 137 Question Id : 54062622899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEral & Fauur ¥ Is e Shl & g EENIGES
Options :

1. % TGO ea

2. ¢ SHfeH

3. % fgAlg




4. % TP

Question Number : 138 Question Id : 54062622900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which day, the sun’s rays fall vertically over the tropic of cancer?
Options :

1. ¥ June 21

2. % December 22

3. % January 23

4. # September 22

Question Number : 138 Question Id : 54062622900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hh @1 R G4 &1 B0l fpd fe daq usdt 82
Options :

1. % 21 9

2. % 22 fadaR

3. % 23 Sa’l

4. % 22 RydeR

Question Number : 139 Question Id : 54062622901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following processes is involved in the hydrological cycle?

I. Evapotranspiration
II. Condensation
II1. Sublimation

Options :
1. # Il and III



2. % Only I
3. % Only III
4.« Jand I

Question Number : 139 Question Id : 54062622901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % [ITUTII
2. % BHad |
3. % Had 11l

4, ¢ 1dYUTII

Question Number : 140 Question Id : 54062622902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Prayagraj city is situated at the confluence of which of the following rivers?
Options :

1. ¥ Ganga and Yamuna

2. # Indus and Brahmaputra

3. % Mahanadi and Narmada

4. % Son and Kosi

Question Number : 140 Question Id : 54062622902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. & T T AT

2. % Y qUT SRIg
3. % HEFAl YT FHar
4. % G qYT B
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Question Number : 141 Question Id : 54062622903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gangotri glacier is situated in which state/UT of India?
Options :

1. # Himachal Pradesh

2. % Jammu and Kashmir

3. % Uttarakhand

4, % Sikkim

Question Number : 141 Question Id : 54062622903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR IR HRA & g ITea/dhg Md Tex # RRud 82
Options :

1. % fgOmd uem

2. % S 3R HIAR

3. ¥ IS

4. % fyfepH

Question Number : 142 Question Id : 54062622904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following biosphere reserves of India is situated in Meghalaya?
Options :

1. # Panna

2. % Manas

3. % Nokrek

4. % Simlipal

Question Number : 142 Question Id : 54062622904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YR &1 Fgfiad & § &9 91 shiared fHag furad § f¥d g2
Options :

1. % UAT

2. % HHH

3. ¢ AIBD

4. % RyAdiuTe

Question Number : 143 Question Id : 54062622905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Deccan plateau is divided into three major regions. Which of the following is NOT one of those regions?
Options :

1. % Maharashtra

2. % Andhra Pradesh

3. ¥ Gujarat

4. # Karnataka

Question Number : 143 Question Id : 54062622905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
b BT ISR I U &7 & v 1 Fufifa A ¥ o 37 & A A us T8t &2

Options :

1. % HERIY
2. % 3fY U
3. ¢ ToRId
4. % HHAlcH

Question Number : 144 Question Id : 54062622906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The Shiwaliks are separated from the northern plains of India by the
Options :

1. ¥ Himalayan Frontal Fault

2. % Main Central Thrust

3. % Main Boundary Thrust

4. % Indus Suture

Question Number : 144 Question Id : 54062622906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRrarferes, HRd & IR AeM GRT 3T USd g
Options :

1. ¢ RO thed Biee

2. % T hald UK

3. % T Y1 e

4. % e Ryai

Question Number : 145 Question Id : 54062622907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘National park of India — State’ is correct?

I. Silent Valley National Park — Karnataka
II. Bandhavgarh National Park — Rajasthan
III. Kanha National Park — Madhya Pradesh

Options :

1. # Iand II

2. % Only III

3. % I, I and III
4. % Only I

Question Number : 145 Question Id : 54062622907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % [JUTII
2. ¢ Had I
3. % 1 [[JUTIII

4. % Had |

Question Number : 146 Question Id : 54062622908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The dependency ratio is dependent on which of the following population compositions?
Options :

1. ¥ Age

2. # Sex-ratio

3. # Ethnicity

4. # Education

Question Number : 146 Question Id : 54062622908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIAdT uTd Fafied & 9 fog See @a R MR aar ge
Options :

1. ¥ 39

2. % T U

3. % S

4. % fRiem




Question Number : 147 Question Id : 54062622909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The optimum population theory is based on which of the following concepts?

I. Overpopulation
II. Underpopulation

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 147 Question Id : 54062622909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl
2. % HAd II
3. ¢ QYT I gl
4. % 1B

Question Number : 148 Question Id : 54062622910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the unevenness of population distribution?



I. The distribution of population can be analysed on the basis of continents and countries.
II. South Asia is one of the major concentrations which accounts for about half of the world’s population.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 148 Question Id : 54062622910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SEReT fadRur &t Sl & e H Ruferiad 7 @ & 91 Sy I8 82

1. ST faaR 0T 1 HeTgiul 3R <20 & SMTYR IR fazaiftad fovar s ged 3|

11 0T TR TRa 01 B W Ueh § O gl T SATTE T AU e g g
Options :

1. % Had I

2. % HAA I

3. [ QYT ISl

4. % GBI

Question Number : 149 Question Id : 54062622911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which mineral resource is non-metallic in nature?
Options :

1. ¥ Manganese

2. ¥ Chromium

3. % Asbestos

4. # Platinum

Question Number : 149 Question Id : 54062622911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafofed & I & a1 @ Udhia § erurg 82
Options :

1. % TS

2. % Iy

3. ¥ 3{qe

4. % WifeqA

Question Number : 150 Question Id : 54062622912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which city is called the Cottonopolis of India?
Options :

1. # Kolkata

2. % Mumbai

3. % Chennai

4. ¥ Patna

Question Number : 150 Question Id : 54062622912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR BT HUNIIITY [ [EX BT Hel offdl 52
Options :

1. % DIDIAl

2. ¥ s

3. % Tds

4. % Ucdl

Question Number : 151 Question Id : 54062622913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following combinations of factors determine the location of an industry?
Options :

1. ¥ Capital, Entrepreneur

2. % Skilled labour, Greenery

3. # Climate, Population

4. % Rural settlement, Raw material

Question Number : 151 Question Id : 54062622913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FOfRad & 9 HH 9 SRS &1 Ao e SeT &1 sfafeufd &1 Ry Har g2
Options :

1. ¢ ST, ST

2. % BRI 4H, g

3. % STy, Sl

4. % YTHI AT, ST AT

Question Number : 152 Question Id : 54062622914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which state has the largest number of factories in India?
Options :

1. ¥ Maharashtra

2. ®% Gujarat

3. #¥ Uttar Pradesh

4. % Tamil Nadu

Question Number : 152 Question Id : 54062622914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & qa 31fie thfaeal i Isa H 82



Options :

1. ¥ HERTY
2. % TGRId

3. % FW U
4. ¥ QAT

Question Number : 153 Question Id : 54062622915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Lancashire region of Europe is known for which of the following industries?
Options :

1. ¥ Cotton textile

2. % Electronics

3. % Automobile

4. % Sugar

Question Number : 153 Question Id : 54062622915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

PRIT BT AGRITER & Fgfeied & ¥ ford I 3 forg S i g2
Options :

1. ¢ il hUST

2. ¥ Toaei-eRd

3. % 3l

4. % Y

Question Number : 154 Question Id : 54062622916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Truck farming is associated with the cultivation of



I. Vegetables
II. Fibre crops

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 154 Question Id
Orientation : Vertical

: 54062622916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

TH P CAkCRIRASS ]

1. gfesat
11. ¥ 916! et

Options :

1. v R 1

2. % Had Il

3. % [ 3RS

4. % A RAGI

Question Number : 155 Question Id
Orientation : Vertical

: 54062622917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Sugarcane is NOT grown in which of the following states of India?

Options :

1. # Uttar Pradesh

2. ¥ Himachal Pradesh
3. % Karnataka

4. ¥ Gujarat

Question Number : 155 Question Id

: 54062622917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

HRd & FRgferRad & 3 foog Ieg § 791 78} ST o1 82
Options :

1. % I UK

2. ¢ ferTEd yew

3. % HAlcH

4. % ToRTd

Question Number : 156 Question Id : 54062622918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All the given statements regarding maize cultivation are correct except:
Options :

1. ® It is essentially a warm and humid season crop.

2. % A fertile, well-drained loamy soil is best for it.

3. # It is very sensitive to excess water.

4. ¥ It requires a field having higher salinity.

Question Number : 156 Question Id : 54062622918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Had P Wl & TeH H 3T 0 3t w5 wel § R
Options :

1. % gg 3ffar ¥U g U TH 3R IAY WX ARH &1 Bd |

2. % 3P Y 3D} RE T Yt Ifh1T Iz Hal I 31D g |
3. % g ffaRad ot & ufd 9gd YaeT2id g

4. ¢ 3P o I U aTel &3 B SaTH AT Bidll |

Question Number : 157 Question Id : 54062622919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Asia’s first export processing zone was setup in
Options :

1. ¥ Kandla

2. % Mumbai

3. # Vishakapatnam

4. % Chennai

Question Number : 157 Question Id : 54062622919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR 1 ygar afd geesRu S ST T T
Options :

1. ¢ Bl

2. % g

3. % fogmETgTH

4. % IS

Question Number : 158 Question Id : 54062622920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Palmer index is associated with which of the following natural disasters?
Options :

1. # Earthquake

2. % Hurricanes

3. ®¥ Volcano

4. ¥ Drought

Question Number : 158 Question Id : 54062622920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R S FRfefad # @ fa urefae amuar § gefid 82



Options :

1. % Yy

2. % gRb

3. % STl fawhle
4. ¢ gl

Question Number : 159 Question Id : 54062622921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HioTe T e &1 TH 3aeU g
Options :

1. % SIfds amuer

2. ¥ IS 3UcT

3. % dobHIh! 3MUQT

4. % YRING 3myar

Question Number : 159 Question Id : 54062622921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Bhopal gas tragedy is an example of
Options :

1. # Biological disaster

2. ¥ Chemical disaster

3. # Technological disaster

4. % Physical disaster

Question Number : 160 Question Id : 54062622922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which the following tropical cyclones falls under the category of weak cyclone?



I. Tropical depression
II. Tornado

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 160 Question Id : 54062622922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 9 o 91 U fesfiy Ihard FHSR Tshald B IUN H 3M7dT 82

1. SUBIcae g 3fadre

1. TRAS!
Options :

1.¥ Hadl

2. % HAd Il

3. % [ UGl
4. % qEIIATE I

Discipline4
Group Number : 9
Group Id : 540626892
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline4

Section Id : 5406261136
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261354
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54062622923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following causes can be held responsible for devastating floods of alluvial rivers?

I. Meandering courses of rivers
II. Large-scale of deforestation
II1. Faulty agricultural practices

Options :

1. * Tand II

2. % Iland III
3. % Only I
4.+ 1, 11 and III

Question Number : 161 Question Id : 54062622923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sdle Afeal ot faareR a1g & fore Fufafea 7 @ f5g R &) fS™eR a8 o 9a6di 82



1. Afeat & faad v
I §S 9HM W a1 &1 HeTs

11 . oyl By ugfori

Options :

1. % 1dYT 11
2. % I dUTIII
3. % had |

4.« 1 I dUT T

Question Number : 162 Question Id : 54062622924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Chronic disguised unemployment is found in the

I. Urban areas
II. Rural areas

Options :

l. % Only I

2. ¢ Only II

3. # BothIand II
4. #® Neither I nor II

Question Number : 162 Question Id : 54062622924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ERCAINEAEFE LSRR A Urg S B

1. T &l
11, TTetor &

Options :
1. % FHadl
2.+ Had I




3. % 1dUT I Sl
4. % qTEIIATRIII

Question Number : 163 Question Id : 54062622925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T fARU &Y SHFART BT MM AR HI Jgraal I T ST gl
Options :

1. % fOfey ok

2. % WH a%h

3. ¥ ARSI

4. % I deh

Question Number : 163 Question Id : 54062622925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Inequalities of income distribution are generally measured with the help of
Options :

1. % Philip Curve

2. % Engel’s Curve

3. ¥ Lorenz Curve

4. ® Laffer Curve

Question Number : 164 Question Id : 54062622926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following expressions is correct with respect to the theory of purchase power parity? (D = price level in the domestic economy, € =
exchange rate and F = price level in a foreign country)

Options :
l.#* DxF=e
2.¥Dxe=F

3.% Fxe=D



4. % D—-F=e

Question Number : 164 Question Id : 54062622926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 fad T & Rigid & deu # fafied # § &9 W e 98! 82 (D = IR Siawil § o ¥R, e = fafmg e auT F = s fae=h
ERER GRS

Options :

lI.* DxF=e

2.¥ Dxe=F

3. Fxe=D

4. * D-F=e

Question Number : 165 Question Id : 54062622927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sen Index is associated with the measurement of which of the following social problems?

I. Poverty
II. Public health
III. Social disorganisation

Options :

1. % Only I

2. % Il and I
3. % land III

4. % [, Il and III

Question Number : 165 Question Id : 54062622927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I g3 Fufalad 7 3 feg amifSe gawn & A 3 9efdd g2
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Options :

1.« Had 1

2. % 11 AUTIII

3. % 1Y

4. % 1,11 AUTIII

Question Number : 166 Question Id : 54062622928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the main occupation of the producers in the primary sector of an economy?
Options :

1. # Fishing

2. % Agriculture

3. ¥ Mining

4. # Quarrying

Question Number : 166 Question Id : 54062622928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forelt srieaT & Uit &5 B IdTeH! BT T a1 gidl 62
Options :

1. * HUTcH

2. ¥ HY

3. % 94

4. % A

Question Number : 167 Question Id : 54062622929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



All the non-banking financial institutions in India come under the category of

I. Organised sector
II. Unorganised sector

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor I

Question Number : 167 Question Id : 54062622929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA § I+ IR-Sfh faxiig g=im o1 ot 7 3md B

1. §Ifed &

1L TS &7
Options :

1. % PHadl

2. % Had Il

3. ¢ 1 qUTIL AT
4. % 1B

Question Number : 168 Question Id : 54062622930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an example of ‘Development bank’ in India?
Options :

1. # Industrial Finance Corporation of India

2. # State Financial Corporation

3. # Industrial Development Bank of India

4. ¥ Indian Overseas Bank



Question Number : 168 Question Id : 54062622930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffed 8 3 oH yRa & Ae™ 6 &1 3aexu Tl 82
Options :

1. % YR 3enfires fo< e

2. % oy fafig e

3. % YR NN fapry o

4. ¢ ST A I

Question Number : 169 Question Id : 54062622931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is an example of ‘Near-Money’ assets?

I. Treasury bills
II. Debentures

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 169 Question Id : 54062622931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad & ¥ o PR Tufy &1 te e g?

L ¢ fod
11 BTl
Options :

1. % Had |



2. % Had Il
3.« 1 QYT I Sl
4. % qIEITAIB I

Question Number : 170 Question Id : 54062622932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements regarding the Market Stabilisation Scheme (MSS) is correct?

L. It is an instrument for monetary management.
I1. It was introduced in 2010.
II1. It was introduced to with draw excess liquidity by selling short-dated government securities.

Options :

1. % Iand II
2. % Only III
3.% Tand III
4. % Only II

Question Number : 170 Question Id : 54062622932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR FRRAHN TIoHT (TH.T9.T9.) & Te § Fgfeied & @ & 91 Sy It 82

1. I8 Aifae Tee & forg T Suasur 8|
IL 33 2010 § U1 foam 7 o1
111 3 Yc-3¢8 WBRI Wayfad 1 s TARed aRerdl Dl ST HR- o forg U foram 7t T

Options :

. % IdUTII
2. % Hdd I
3.9 [ dYT I
4. % HadII



Question Number : 171 Question Id : 54062622933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Subjects containing in the list — List’ are correct?

I. Fisheries— State list
II. Civil Procedure — Concurrent list
II1. Railways — Union list

Options :

1. # Iand II

2. % Il and III
3. % TIand III

4, 1,11 and 11T

Question Number : 171 Question Id : 54062622933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e H Tt fawy - g & et g § 9 o a1 el 82

1. Hicen! — T gl

1. ffaa wforar — THadf =t
I11. Yed — Y gt

Options :

. % 1dUT1I

2. % I dYUTII

3. % IdUTII

4.« 111 YT

Question Number : 172 Question Id : 54062622934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % YRd &1 gare uraad

2. % e sl o I Iy
3. ¢ 44q

4. % I BT IoTUTd

Question Number : 172 Question Id : 54062622934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following has the power to adjudicate on dispute or complaint with respect to the distribution or control of the water of any inter
state river or river valley?

Options :

1. # Supreme Court of India

2. % High court of the concerned states
3. % Parliament

4. % Governor of the state

Question Number : 173 Question Id : 54062622935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of federal system in India has been borrowed from the constitution of which of the following countries?
Options :

1. ¥ Canada

2. % Australia

3. # United States of America

4. # Ireland

Question Number : 173 Question Id : 54062622935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRA # HdTd gawi1 1 SfayRon FafeRad # 3 fea g & WA gt 1 82

Options :



1. ¢ HIS]

2. % 3fiefer

3. % Yo ST SARBT
4. % RS

Question Number : 174 Question Id : 54062622936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
constitutional amendment act is associated with Panchayati Raj system in India.
Options :
1. # 88th
2. % 83rd
3. % 78th
4. % 73rd

Question Number : 174 Question Id : 54062622936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faem T A YRa H dargdt I Saw ¥ ST 8|

Options :
1. % 8gdl
2. % 83q]
3. % 78q]
4.« 734

Question Number : 175 Question Id : 54062622937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Regional party — State’ are correct?

I. Dravida Munnetra Kazhagam — Tamil Nadu



II. Aam Aadmi Party — Delhi
III. Shiromani Akali Dal — Haryana

Options :

1.¥ Tand II

2. % Il and III
3. % TandIII

4. # I, 1I and III

Question Number : 175 Question Id : 54062622937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&3 < - uref o1 el & @ o a1 g It 32

1. gfae gad et - dffeHrg
11. 3T 37 urel - faeeht
111. RRIAM0T 3reTelt &a — gRarom

Options :

1. 1dUT Il

2. % IIdYTIII
3. % 1TdYT I
4, % I, I dYT I

Question Number : 176 Question Id : 54062622938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which state of India has the largest legislature?
Options :

1. ¥ Karnataka

2. # Andhra Pradesh

3. % Uttar Pradesh

4. % Madhya Pradesh



Question Number : 176 Question Id : 54062622938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRd & forg g A a9 §81 faurmvsd 82
Options :

1. % PlcH

2. % 3fig U

3. ¥ WYUK

4. % OO YR

Question Number : 177 Question Id : 54062622939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 243ZA of the Indian constitution deals with the election of the
Options :

1. ¥ municipalities

2. # parliament

3. % gram panchayats

4. % President

Question Number : 177 Question Id : 54062622939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRATT AT BT 306 243ZA & frate § Jafrd g
Options :

1. ¥ TR Ulfciop1af

2. % Idg

3. % I Uargd

4. % JUfd

Question Number : 178 Question Id : 54062622940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a difference between a political party and a pressure group?

Options :

1. ¥ Pressure groups do not seek power while a political party does.

2. ® Pressure groups are responsible for policy-making while a political party is not.

3. # Pressure groups are important link between individual, state and society while a political party is not associated with such linkage.

4. ® Pressure groups form connection between social process and policy makers and political party does not.

Question Number : 178 Question Id : 54062622940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRed & § DI T AoHITdd &d 3R Ud gaTd Ig & aid &1 3R g ?

Options :

1. ¥ A1 Y I &1 I Tl HRd Siafh U AoHIad ad Bl g |

2. % gaTg wHg Hfa-Fafor & forg fSorier 81 § wrafes worifas ga 7|

3. % T91d GHE a4, Io9 R JAN & o1 Agayqul del 8Id § SIaid U JoHITdd &d 59 ave & Jerd I I8 Tal gl o |
4. % 9 YU JrHTfore ufehar 3R Hifa fAatarsii & i dey §91d § SR Iomifae ad 98 el drd & |

Question Number : 179 Question Id : 54062622941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the election symbol for Nationalist Congress Party?
Options :

1. # Scooter

2. ¥ Clock

3. % Pen

4. # Pencil

Question Number : 179 Question Id : 54062622941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



RIyaTdt S urct &1 e forg o’ g2
Options :

1. % Ipcx

2. g8t

3. % U9

4. % URMQ@

Question Number : 180 Question Id : 54062622942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states in India has a Panchayati Raj system?
Options :

1. % Nagaland

2. % Meghalaya

3. % Mizoram

4. ¥ Tripura

Question Number : 180 Question Id : 54062622942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd B Frafeied o § few Twa  vard e e 82
Options :

1. % TGS

2. % WYY

3. % fieiRA

4. QT
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Group Number : 10
Group Id : 540626893



Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :
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Sub-Section Id :
Question Shuffling Allowed :

Question Number : 181 Question Id : 54062622943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Gram Panchayat is headed by the

Options :

1. # Councillor

2. # District collector
3. ¥ Pradhan

4. % Governor

Discipline5

5406261137
1

Online
Mandatory
10

10

10

Yes

1
5406261355
Yes



Question Number : 181 Question Id : 54062622943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘;I'ITTL{'tIMdW:IQ(d QNI%CITWICH% I
Options :

1. % Uig

2. % fOrell HeideR

3. ¢ YU

4. % IsgUTd

Question Number : 182 Question Id : 54062622944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements regarding municipal corporation is NOT correct?

Options :

1. ¥ A municipal corporation has five authorities

2. ® Municipal corporation has a corporation council headed by a mayor

3. # Municipal corporation has standing committees to deal with various activities like health, education etc

4. ® Municipal corporation is established by the act of state government for the big cities of states

Question Number : 182 Question Id : 54062622944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR e & el B gl § ¥ oF W wu we e 8

Options :

1. ¥ T TR 70 & gia Ui gid §

2. % TR T ¥ U HGTUR &1 3regerar & ueb 0 uRwg gl &

3. % TR R & o o, e anfe fafia wfafafer & fMues & foe wirh afafadr gt 6
4. % I b T Y P 17U o0 WHR & RIFTH gRI TR A0 &) g1 st o @

Question Number : 183 Question Id : 54062622945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a type of urban local body found in India?
Options :

1. # Town Area Committee

2. # Municipalities

3. # Cantonment Boards

4. ¥ Public Undertakings Committee

Question Number : 183 Question Id : 54062622945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad o 9 SF YRd & UTd1 9 aTd1 U UHR BT WeRl M Fob[ 81 672
Options :

1. % 13 TRaT HHS

2. % TR UIcIhI3f

3. % BraA ds

4. FiaSID IuHH i

Question Number : 184 Question Id : 54062622946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Panchayat democracy in Nepal was launched by King Mahendra. He was the son of
Options :

1. * King Gyanendra

2. % King Narayan

3. ¥ King Tribhuvan

4. % King Birendra

Question Number : 184 Question Id : 54062622946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3.« el YA

4. % IO ARG

Question Number : 185 Question Id : 54062622947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements regarding Bolivia’s political struggle is correct?

I. The protest against water privatisation in Bolivia was supported by a socialist party.
II. The popular struggle in Bolivia was about one specific policy.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 185 Question Id : 54062622947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had I

3. ¢ 1 qUTIL A
4. % qEIIATR I



Question Number : 186 Question Id : 54062622948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Fundamental Rights Sub-Committee of the constituent assembly of India was headed by
Options :

1. % Mahavir Tyagi

2. % ]. B. Kripalani

3. ®# G.V. Malvankar

4. % S K. Patil

Question Number : 186 Question Id : 54062622948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA ST HaY™ FuT 31 Hiferd SR Iu-IfAfa ot sregar ECARIT
Options :

1. ® HIdR AR

2. ¢ & U

3. % St dl. ATTquUie]

4. % TP, Ui

Question Number : 187 Question Id : 54062622949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under Article 359, the President is authorised to suspend, by order, the right to move any court for the enforcement of Fundamental Rights
EXCEPT:

I. Article 20
I1. Article 21

Options :

1. % Only I

2. % Only II

3. % Both I and II



4. # Neither I nor II

Question Number : 187 Question Id : 54062622949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@359%%,@%@ 3SR GRT, G SHUBRI &b Tac & ey fobet o+t srarerd # o1 1 ifepR Feiferd 3 &1 sifipR 3,

I. 3¢ 20

I1. 319G 21
Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A

4. % ATBIIATSII

Question Number : 188 Question Id : 54062622950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The resolution to impeach the President of India requires the majority of not less than of the total membership of that house of
Parliament.

Options :
1. * one-third
2. ¥ two-third
3. * one-fourth
4. % half

Question Number : 188 Question Id : 54062622950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % T foIgTs
2. ¥ QI dies
3. % TH AU
4, % 3TYUT

Question Number : 189 Question Id : 54062622951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which schedule of the Indian constitution deals with the powers, authority and responsibilities of municipalities?
Options :

1. # Tenth

2. % Eighth

3. % Eleventh

4. ¥ Twelfth

Question Number : 189 Question Id : 54062622951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % cqd

2. % 3fTadl

3. % TRgdl

4. ¢ 9Rgdl

Question Number : 190 Question Id : 54062622952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a fundamental right?
Options :



1. # Right of equality
2. # Right to freedom
3. % Right against exploitation
4. ¥ Right to property

Question Number : 190 Question Id : 54062622952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e # & o gt 3ifeR T8 32
Options :

1. % gHAT BT ATHR

2. % WA 3YBR

3. % QMU b [d9g SMUBR

4. « HURI BT HfABR
Teaching Methodology
Group Number : 11
Group Id : 540626894
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No
Teaching Methodology
Section Id : 5406261138

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 10

Section Marks : 10

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261356
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 54062622953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Growth depends upon both maturation and learning. Which of the following statement is NOT correct?

I. Learning refers to changes in the muscles and the nervous system as a result of time.

I1. Maturation refers to the action of appropriate environmental forces operating on the individual.
Options :

1. % OnlyI

2. % Only II

3. ¥ Both I and II

4. *= Neither I nor I1

Question Number : 191 Question Id : 54062622953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fyepT uRuear ok i S IR 1R e 31 FRefifed 8 @ o 1 oy I 78 22
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Options :

1. 8 Had 1
2. % BHad I




3. 1dUT 11 Sl
4. % qTEIIATRIII

Question Number : 192 Question Id : 54062622954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Emotions have some effects on the developing individual. Which of the following are those effects?

I. They influence adjustment in the society.
II. They work as motivators of our behaviour.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 192 Question Id : 54062622954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fad & fAH IR U181 &1 $& gHTE Usdl g | Fafifad # 4 o9 S ag uua g2

L. 4 AT & GHRSH &1 gHIfad Hd & |
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Options :

1. % Hadl
2. % HAd Il
3. QYT I gl
4. % qEIIATE I

Question Number : 193 Question Id : 54062622955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT an assistive device for children with low vision?



Options :

1. #* Braille

2. ¥ Speech Synthesiser
3. % Magnifiers

4. % Spectacles

Question Number : 193 Question Id : 54062622955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed 3 3§ o9 &0 =P 9 s & U Tgre IuHRul T8 82
Options :

1. % §d

2. ¢ Wig RiYTEeR

3. % JMadd

4. % JRAT

Question Number : 194 Question Id : 54062622956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution ensures equality of opportunity in matters of public employment?
Options :

1. ¥ 16

2. % 15(3)

3.% 14

4. % 20

Question Number : 194 Question Id : 54062622956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1.v 16
2. % 15(3)
3.% 14
4. % 20

Question Number : 195 Question Id : 54062622957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement shows gender sensitivity?

I. In certain cultures, women are not allowed to drive.
II. Providing separate toilets for boys and girls.

Options :

1. % Only I

2. ¢ Only II

3. % Both Iand Il
4. ® Neither I nor II

Question Number : 195 Question Id : 54062622957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had 1

2. ¥ HAd Il

3. % [ UGl
4. % I I

Question Number : 196 Question Id : 54062622958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a performing art?

I. Music
II. Dance
ITI. Drama
I'V. Magic

Options :

1. # II, Il and IV
2. % Tand IV

3. LI, Il and IV
4. % Il and III

Question Number : 196 Question Id : 54062622958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1% IL I daT IV
2. % IdUTIV

3.9 L1, [T ddT IV
4. % 11 dYT I

Question Number : 197 Question Id : 54062622959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sometimes poets and writers wish to exaggerate a specific feature or an event. Which literacy device refers to that exaggeration?



Options :

1. # Trony

2. ¥ Hyperbole
3. ¥ Rhyme

4. # Alliteration

Question Number : 197 Question Id : 54062622959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Hm(lrony)

2. ¥ ETﬁ'CI_GﬁT‘[(Hyperbole)

3. % gH (Rhyme)

4. % 3fTcleTH (Alliteration)

Question Number : 198 Question Id : 54062622960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which process instructional decisions are carefully made by examining evidence of student performance, behaviours towards learning and
understanding over a period of time?

I. Evaluation
II. Assessment

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 198 Question Id : 54062622960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had I

2. % Had I

3. ¢ 1 qUTIL A

4. % ATBIIATSII

Question Number : 199 Question Id : 54062622961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following combination is correct?

I. Intrinsic Motivation — Preparing any project in science/mathematics may give pleasure to the pupil as a result of which he/she is motivated to
undertake similar activities on his/her own.
II. Extrinsic Motivation — Rewards like money and grades.

Options :

1. * Only I

2. % Only I

3. % Both I and II
4. % Neither I nor II

Question Number : 199 Question Id : 54062622961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1

2. % HAdII

3. ¢ 1 AU Gl

4. % qEIIATR I

Question Number : 200 Question Id : 54062622962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Egocentric thought’ is a major characteristic of which stage of Piaget’s stages of cognitive development?
Options :

1. % Sensorimotor

2. % Concrete operating

3. # Formal operations

4. ¥ Preoperational

Question Number : 200 Question Id : 54062622962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % a1 TTATHD

2. % R Hiha

3. % SfIoaTRe Hfesa

4.« qadfha




